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High unemployment rates of elderly in the East (20%
people age 55+ receive unemployment benefits, another
10% are participating in Partial Retirement Programs).



Aggregate Public Transfer Inflows by Function,
Germany, 2003, Euro
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Other Social Protection intragenerational (3 humps:
Child alowance age 20-30, unemployment benefits
elderly 55-65, war victim associated 70+)

Aggregate Public Transfers, Germany, 2003, Euro
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Key Problems Germany

- check macro controls for public sector (does not
match perfectly yet)

- Fill out macro control spreadsheet for general NTA
- Start work on private transfers



